SDS 387 Linear Models

Fall 2025

Lecture 8 - Thu, Sept 25, 2025

Instructor: Prof. Ale Rinaldo

Lost time: CMT

$$\{Xu\} \text{ sequence of r.v. s in } \mathbb{R}^d \text{ s.t. } Xu \overset{d}{\to} X$$

and
$$f: \mathbb{R}^d \to \mathbb{R}^p \text{ s.t. } \mathbb{R}(X \in C) = 1$$

where C is the ext of continuity points of f ,

then
$$f(Xu) \overset{d}{\to} f(X)$$

Example
$$X_{1,-1}, X_1 \overset{d}{\to} (M, 6^2) \text{ they}$$

we will see that

$$Ta = \frac{\sqrt{n}}{6} (X_1 - M) \overset{d}{\to} N^c(0, 1) CLT$$

Xn = 1 5 Xn

Characteristic functions Powerful analytic approach to characterize - convergence and more. and Section 2.3 of Sea Ferguson, chapter Von der Voort's see lecture intes on book Asymptotic Stockethes by Dovid Hunter of Peum State For a 1.1. X in Rd, the characteristic function of X (actually, of the distribution of X) is the function $t \in \mathbb{R}^d \Rightarrow \varphi_X(t) = \mathbb{E}\left[\exp\left\{i \cdot t^T X\right\}\right]$ 2, ta) Xa)

Results:

Zitai) $\times (i)$ Results:

If $(f_{xn}(t)) = f_{x}(t)$ the Ri

Moreover, if $(f_{xn}(t))$ converges pointwise

(i.e. for each t separately) to a function gcontinuous at a then $(f_{xn}(t))$ is the chiff of the $(f_{xn}(t))$

Uniqueness
$$X \stackrel{?}{=} Y = 0 \times (E) = 0 \times (E) = 0 \times (E) = 0 \times (E) \times (E) = 0 \times (E) \times ($$

(3)

D(i)
$$f(z_0, z_0) = \frac{1}{2} \frac{\partial^2 f(x_0) h_2 h_2 h_3}{\partial z_0 \dots \partial z_0} f(x_0) h_2 h_3 h_4$$

where $h = x - z_0$ and $h_0 = h(z_0)$

and Ren is such that $Ren = o(11z - x_0)h^2$)

and Ren is such that $Ren = o(11z - x_0)h^2$)

and $Ren = \frac{1}{(k+1)!} \int_{-1}^{(k+1)} f(z_0, z_0) f(z_0, z_0) f(z_0) f(z_$

Now suppose fix IR and let Df(2): pxd notrex whose (i.i.) entry or Jacobson of fot 2 Then, i=1,...,d· Then, $f(x) = P(x_0) + Df(x_0) \left(\underline{x} - \underline{x}_0 \right) + o\left(\underline{x} - \underline{x}_0 \right)$ p-din vector Ron S. F. A When H = 0(11x-x011) In a 2013 paper on The American statisticions

Littled = The near value Theorem and Taylor series expansion is statistics, the authoris remind statisticians that it is not true · that $f(x) = f(x_0) + Df(z)(x-x_0)$ some · Wrong (. Instead you can write: $f(x) - f(x_0) = \iint Df(x_0 + \mu(x_0 - x_0)) d\mu \int (x_0 - x_0)$ or use p mean value therems $f_i(x) = f_i(x) + \nabla f_i(x_i)(x-x_0)$ 2) is between x and 20

 $(a) \cap a = 1$

Boek to WLLN'S XIXE, N They $\frac{1}{n}\sum_{n=1}^{n}X_{n}=X_{n}$ Equivolently Xn = w The ch.) of Xn of t is $(x_n(t)) = (x_n + x_2 + \dots + x_n(t/n)) = (t/n)$ E exp[= to S x,] l'= l'x1 out i Toylor series expansing around a $= \left(\varphi(\omega) + \int_{-\pi}^{\pi} \nabla \varphi(ut_n) du \right)^n$ stifferentable at 2010 because mean exist use the fact (1+2n) = exp { lunnon} of limit exists

(+ in)" > e $= \sum_{n \geq \infty} \left\{ \lim_{n \geq \infty} \frac{1}{n} \int_{\mathbb{R}^n} \nabla \theta(v, t_n) dv \right\}$ IXNI < Y E[Y] exists I am going the limit inside the In E[xn] = E[x.]. 1 (6)

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \partial \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \partial \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{3} \int_{-\infty}^{\infty} km \, \nabla \rho \left(\pm nv \right) \, dv \right\}$$

$$= \exp \left\{ \pm \frac{1}{$$

Let $t = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$ then $t = \begin{bmatrix} x_n \\ y_n \end{bmatrix} = \begin{bmatrix} 2V & n & \text{even} \\ 1 & n & \text{old} \end{bmatrix}$ This example shows only that if X_n and Y_n converge in distribution marginally then $X_n + Y_n$ needs not to converge in distribution.